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Step 3 | 22 SME M|
1 Hi, science fans. Today, we're going to talk about space travel.
2 As we all know, there is nothing faster than light in the
universe,

3 So, if we travel at the speed of light, we should be able to get

to another planet in the blink of an eye, right?



4 That would be nice, but space is so vast that it is not possible.

5 In the movie, Passengers, a spaceship headed to a different
planet travels at one-half the speed of light.

6 So it should get to another planet very quickly, right?

7 But, the passengers sleep for 120 years because it is expected
to take that much time to get to a different planet.

8 Is there a faster way to travel through space?

9 Well, in order to answer that question, I'd like you to think
about this apple for a second.

10 Imagine a worm is on this apple.

11 It detects something sweet at the bottom and wants to
move from the top to the bottom.

12 For the worm, the apple’s surface is as vast as our universe,

13 Now the worm can either move around the outer layer or
down a wormhole.

14 Which do you think it will choose?

15 Well, it would choose the wormhole because it is a shortcut.

16 Is there such a shortcut in the universe?

17 According to some researchers, yes.

18 Einstein figured out that space and time are connected, and
he called it space-time.

19 He thought that space-time could actually be bent.

20 When it is bent, parts that are far away from each other are
suddenly closer.

21 To understand this, take a sheet of paper and make a small
dot at the top of the paper and another at the bottom of the
paper.

22 On a flat sheet of paper, the dots are far away from one
another,

23 Now, take the paper and fold it with the dots matched up.

24 Punch a hole in the paper and the dots will be instantly
connected.

25 Like this, wormholes in space may contain two mouths, with
a throat connecting the two.

26 Just like a wormhole in the apple, right?

27 If such wormholes existed in space, we could get to places
billions of light-years away quickly!

28 Yes, but it’s too early to celebrate.

29 Wormholes exist in theory only.

30 So all we need to do is find one, right?

31 Even if we find one, there are many things to consider before
actually going through one.

32 A wormhole would be very unstable,

33 If a spaceship flew into one, it might be crushed or broken
into pieces.

34 Is traveling in space through a wormhole simply an idea that
only exists in theory?

35 The debate about wormbholes is still ongoing, but with
persistent exploration and research, | believe we will
eventually find one and learn how to travel through it.

36 Look back at our history.

37 We've achieved so many things that seemed impossible at
first.

38 Who knows? Maybe you can be the one to find the answerl
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